Broil King.

'060 -0-.

9811-63
9811-62

00O

9811-53
9811-52

ﬂ @ﬁmmz@mﬁmpf
585 KUMPF DRIVE LIMITED

WATERLOO, ONTARIO, CANADA

50084-E38EU Rev B 12/17



A HARDWARE INCLUDED A

Y-12865 @m&m x12 1 Y-12310 ([mmmw X6 1 $21125 ([mm» X8

Y-29304 {]ﬂmm x4 | 521235 [[ ol x2 . 521233 M. X2

Y-12857 x2 1 Y-11551 @m x1 1 Y-12124 ~@' x1

$35094 (mmmmm x1 1 20005-000 () O™ =™ x

Y-29310

X6 1 Y-12870 X2 1 Y-11793 Tay x4

A TOOLS REQUIRED A

Y-31223 7/16"

% P =0

Robertson #3







(4) (v




\
i

1\4 ‘
)
N o

2




\
/

O
\

(4)

) {

8




@) v

9

A






14













2) (s

0

Q)

20




\ \
: | Soosse—

(1) ()

22

B @

23




28

29

30

45a

87

88

89

92

100
125
127
129
131
133
134
135
136
140
141
142
151
160
161
169
170
171
173
175
176
177
178
181
184
185
186

ITEM #
56004-801
10081-BK630
10571-6
24004-12A
24009-936
52004-274
52224-024A
27249-904
10342-E13
52904-144D
52904-144E
52904-144NGE
52023-244
52023-124
59004-012
59004-013
59004-016
59004-032
59004-033
59004-036
S$13473-073
S13473-079
S$13473-118
10111-15A
22002-268
22001-168
10472-K431
10472-K231
10342-245
10342-246
52209-404
52007-181
52002-181
52004-991
57054-901
52009-901
21034-991
51274-131A
21106-13
21070-13
21109-905
21303-925
51614-235
21039-301
51334-211
57139-13
51039-908
10892-286
53001-011A
53001-013A
53001-015A
10390-E10D
10390-E10E
10390-E10NGE
53004-271
53000-251
63139-981
10342-T21
Y-12220
Y-12835
S21125
S21124
S$21136
Y-12646
Y-29304
S$35094
Y-29310
Y-12865
Y-12310
Y-11559
Y-11793
Y-12857
Y-12870
Y-11230
S$21235
S$21233
10240-20
Y-11551
Y-12124
Y-12222
Y-12223
Y-11231
20005-000
S$21242
Y-11544

DESCRIPTION
LID

NAMEPLATE
HEAT INDICATOR
HANDLE

HANDLE BEZEL
FIREBOX
COLLECTOR BOX
GREASE SHEILD
ELECTRODE
BURNER - MAIN

CONTROL COVER

CONTROL ASSEMBLY

HOSE - SIDE BURNER

HOSE

CONTROL BEZEL
CONTROL BEZEL
CONTROL KNOB
CONTROL KNOB
ELECTRONIC IGNITOR

FLAV-R-WAVE ®

GRID - SINGLE

GRID — DOUBLE

GRID - WARMING RACK
GREASE TRAY
GREASE PAN

GREASE TRAY - RAIL
DOOR

DOOR HANDLE
HANDLE BEZEL
CABINET - SIDE PANEL
CABINET - REAR PANEL
CABINET - LOWER BASE
TANK BRACKET
MAGNET BRACKET
CONNECTION BRAKET
CASTER BRACKET
CASTER

SIDE SHELF

SIDE SHELF

SIDE SHELF - SIDE BURNER
SIDE BURNER

SIDE BURNER - BODY

SIDE BURNER - COVER
SIDE BURNER GRID

SIDE BURNER ELECTRODE
GROMMET

SCREW - #6 X 1/4

SCREW - #8 X 3/8

SCREW - #8 X 1/2

SCREW - #8-32 X 1/2
SCREW - SHOULDER #8 X 1/2
SCREW - #10-24 X 3/8
SCREW - #10-24 X 5/8
SCREW - #10-24 X 3/4
SCREW - 1/4-20 X 1/2
SCREW - 1/4-20 X 1

SCREW - 1/4-20 X 1

NUT - 1/4-20

WASHER

WASHER

SIDE BURNER - RETAINER CLIP

HINGE PIN

CLIP

DOOR HINGE PIN - TOP
DOOR SCREW

DOOR HINGE COVER
MAGNET

MAGNET - SNAP IN
LID BUMPER - ROUND
MATCH LIGHT CHAIN
CLIP

BURNER SCREW

9811-52 9811-53 9811-62 9811-63
1 1 1 1
1 1 1 1
1 1 1 1
1 1 1 1
2 2 2 2
1 1 1 1
1 1 1 1
3 3 3 3
2 2 2 2
3 . 3 3
. 3 . 3

1 1

e A e

o RN NP N NI

N
[0

WWaA BRI aNN e NNBAN

e e e

OO = B e WhH O

[N
[N

WWa s A aasaNN e DDA N

e A e AR DA A A A ANNAS A AN AN AW e AW W e

SPROBNARON 2 =

WWa R aaaaapNpNNN-a2NDNNAN

O~ BANDADAON- =22 6 26 a2 0 aOBNDMAAAADANN-= AN AN W 6 AW W o e

N
[N

WWa s A a s aNN 2NN






\
\
\

\
\




	Sheet1
	Drawing View1
	Drawing View9
	Drawing View10
	Drawing View11
	Detail View A (1 : 5)
	Detail View B (1 : 5)
	Drawing View14
	Drawing View15

	Sheet1
	Drawing View1
	Detail View A (1 : 2)
	Drawing View3
	Drawing View4
	Detail View F (1 : 2.75)
	Drawing View6
	Drawing View7

	Sheet1
	Drawing View1
	Detail View A (1 : 2.5)
	Detail View B (1 : 2.5)
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7

	Sheet1
	Drawing View1
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View8
	Drawing View9
	Detail View E (1 : 7)

	Sheet1
	Drawing View1
	Drawing View2
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View9
	Detail View A (1 : 2)

	Sheet1
	Drawing View3
	Drawing View6
	Drawing View7
	Drawing View12
	Drawing View19
	Drawing View27
	Drawing View28
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View44
	Drawing View49
	Drawing View50

	Sheet1
	Drawing View1
	Drawing View3
	Drawing View5
	Drawing View6
	Drawing View7
	Detail View C (1 : 4)
	Drawing View9
	Drawing View12
	Drawing View13

	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View12

	Sheet1
	Drawing View1
	Drawing View9
	Drawing View10
	Drawing View11
	Detail View A (1 : 5)
	Detail View B (1 : 5)
	Drawing View15
	Drawing View17
	Drawing View18

	Sheet1
	Drawing View3
	Drawing View6
	Drawing View7
	Drawing View12
	Drawing View19
	Drawing View27
	Drawing View28
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View44
	Drawing View49
	Drawing View50

	Sheet1
	Drawing View3
	Drawing View6
	Drawing View7
	Drawing View12
	Drawing View19
	Drawing View27
	Drawing View28
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View44
	Drawing View49
	Drawing View50

	Sheet1
	Drawing View3
	Drawing View6
	Drawing View7
	Drawing View12
	Drawing View19
	Drawing View27
	Drawing View28
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View44
	Drawing View49
	Drawing View50

	Sheet1
	Drawing View1
	Drawing View2
	Drawing View14
	Detail View M (1 : 2)
	Detail View N (1 : 2)
	Detail View P (1 : 5)
	Detail View R (1 : 2)

	Sheet1
	Drawing View1
	Detail View B (1 : 2)
	Drawing View4
	Drawing View5
	Detail View F (1 : 2.5)
	Drawing View7
	Drawing View8

	Sheet1
	Drawing View1
	Detail View A (1 : 2)
	Drawing View3
	Drawing View4
	Detail View B (1 : 2)
	Drawing View7
	Drawing View8
	Drawing View10
	Detail View C (1 : 3)
	Detail View D (1 : 3)
	Drawing View13
	Drawing View14
	Drawing View15

	Sheet1
	Drawing View7
	Drawing View8
	Detail View C (1 : 3)
	Detail View D (1 : 3)
	Drawing View14
	Drawing View15
	Detail View E (1 : 4)
	Detail View F (1 : 4)
	Drawing View18
	Drawing View19
	Drawing View20

	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6

	Sheet1
	Drawing View1
	Drawing View2
	Detail View A (1 : 3)
	Detail View B (1 : 2)
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View10
	Drawing View13
	Detail View C (1 : 2)
	Detail View D (1 : 2)

	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Detail View A (1 : 1)
	Drawing View5
	Drawing View7
	Drawing View8

	Sheet1
	Drawing View1
	Detail View A (1 : 2)
	Drawing View3
	Drawing View4
	Detail View F (1 : 2.75)
	Drawing View6
	Drawing View7

	Sheet1
	Drawing View1
	Detail View A (1 : 2.5)
	Detail View B (1 : 2.5)
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7

	Sheet1
	Drawing View1
	Drawing View2
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View9
	Detail View B (1 : 1)

	Sheet1
	Drawing View1
	Drawing View9
	Drawing View10
	Drawing View11
	Detail View A (1 : 5)
	Detail View B (1 : 5)
	Drawing View15
	Drawing View16

	Sheet1
	Drawing View3
	Drawing View6
	Drawing View7
	Drawing View12
	Drawing View19
	Drawing View27
	Drawing View28
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View44
	Drawing View49
	Drawing View50

	Sheet1
	Drawing View1
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View8
	Drawing View9
	Detail View E (1 : 5.5)

	Sheet1
	Drawing View1
	Drawing View3
	Drawing View5
	Drawing View6
	Drawing View7
	Detail View C (1 : 4)
	Drawing View9
	Drawing View12
	Drawing View13

	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View12


